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4(x*+5x+4)=4|x +5x+z

= 4x2 + 20x + 25 ©o|t}.
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3. xX*-(?-6y+9) & AdFEslstH?

@ (x-y-5)(x—y+2) @ (x=y+5)(x—y+2)
® (x+y-3)(x-y-3) @ (x+y+3)(x—-y+3)
@ +y-3)(x-y+3)

x* = (- 6y+9)
=x"-(y-3)?
=(x+y-3)(x-y+3)




4.

6xy —8x—9y+ 12 = (ax + b)(cy +d) W a+b+c+d 2 TS
T-SFH?

6xy—8x—9y+ 12 = 2x(3y —4) —-3(3y - 4)
=(2x-3)3y-4)
SLa+b+c+d=-2




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




6. 2x3-8xy? & QIF=alstA?

D x(x+2y)(x—2y) @2x(x +2y)(x —2y)

® 2(x+2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x-2y)

2x3 — 8xy? = 2x(x? — 4y?)
= 2x(x + 2y)(x - 2y)




@ x? +4x @ x-2 ((@(x—i—@2

@ 2+4x+1 ® x24+4x+3

B

x2 4 4x =t 2 | golH
P+3t—4=(-1)(t+4)
= (2% +4x—1)(x* + 4x +4)
= (x® +4x—1)(x+2)?
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L 5x +y 2 A & Zg5lo] Q1R E|sts wyolt}, whEsl=
& a,

bl st a—b O 27 (H,a>b)

(5x+y)(5x+y—-3)-18
=A(A-3)-18
=A2-3A-18=(5bx+y+a)(5bx+y+b)

® 4 @ 6 ® 7 @s @)

B

Sx+y=A & xgsH
(5x 4+ y)(5x +y—-3) - 18

=A(A-3)-18
=A2-3A-18
= (A+3)(A-6)

=(Bx+y+3)(5bx+y-—06)
w2t a =3, b=-6 9|22 a—- b =9 oJT}.




(2a-3b+1)?-(2a+3b-1)> =8a(Aa+Bb+C) & T, A+B-C
= F-shofzt.

>

[> Hell A+B-C=-4

20-3b+1=X, 2a+3b-1=YZ=E xg5}H
(2a-3b+1)2 - (2a+3b-1)?
=X’-YV’=(X+Y)(X-Y)

= 4a (-6b+ 2)

=8a(-3b+1)

L A+B-C=0+(-3)-1=-4
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(x+2)(x+4)(x+5)(x+7)+a

=
=i

>
> At a=9

~&B

=) =(x+2)(x+7)(x+4)(x+5)+a
= (x2+9x—|— 14) (x2+9x+20)+a

24+9x=A4 2 3stH

(F4) = (A+14) (A+20) +a
=A%2+34A+280+a
= (A+17)% = (2 + 92+ 17)°

172 =280 +a

a=9
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@ 1 @ 2 @0 @ -1 ©® -2

yx=3)+(x-3)=(x-3)(y+1)
La+b+m+n=1-3+1+1=0




12. o} 16 — 4x% + 4xy — y? & A-ES)5HA?

@ @d-x+y)(d-2x+y) @ (4+2x-y)(d—x-y)
® (4-2x+y)4+2x+y) @(4+2x—y)(4—2x+y)

® (A4+2x+y)(4-2x-y)

42 - (2x-y)?=(4+2x-y)(4-2x+y)




13. x*-10x* +99] 57} obd A2

D x-1 @ x+3 @ x?-1
@x+9 ® x*-10x2+9

(2 -1)(x*-9) = (x+1)(x=1)(x+ 3)(x = 3)




abc+ab+ac+a-+bc+b+c+1

@® (a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
@a+1)b+1)(c+1) @ (a-1)(b+1)(c-1)
® (a-1)(b-1)(c-1)

~&B

abc+ab+ac+a-+bc+b+c+1
=albc+b+c+1)+ (bc+b+c+1)
=(a+1)(bc+b+c+1)
=(a+1)b+1)(c+1)




15. x% +4(a+b)x + 3a® + 6ab + 3b> = A5-E-lo}H?

® (x+a+b)(x—a->b) @ (x+a+b)(x+2a+ 2b)
® (x+a+b)(x+2a+3b) @ (x+a+b)(x+ 3a+2b)
@) (x+a+b)(x+ 3a+3b)

x? +4(a + b)x + 3a® + 6ab + 3b*
=x?+4(a+ b)x+ 3(a + b)*
=(x+a+b)(x+3a+ 3b)




16 x-y=d xy=-1 2w (x+y)* ] Gb& Fofefet

(x+9)" = (x=y)" +dxy
=42 +4x(-1)
=16-4
=12




17. a+b=2 A W, a®+ 2ab+ b? - 2a - 2b ] IS Fstolet,
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@® 5rx? cm? @ nx(x+5)cm?
@nx(x +10) cm? @ 7x(2x+5)cm?

® nx(2x + 10) cm?

B ~

(271:59] Zol7k 5em 91 9] o))

=7 x 5% = 257( cm?)

(B2 5] AoIE xom BF 5

=X (x+5)?

kA, Sl Wols

X (x+5)? - 25m = m(x? + 10x + 25) — 257
= nx® + 107x + 257 — 257
= 7x(x + 10)(cm?)

®
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20. (x+y+4)(x—y+4)-16x S ¥2A ARG AL

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)

~&B

x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)




21. TR 4xt - 52 + 12 W] O] AxAle] Foz Q14 RajEch ]
o) QapA10] g2

O 2x+1 @ 2x-1 (@)m
@ 6x+1 ® 4x-2

(4x>=1)(x*-1)=2x+ )(2x - 1)(x+ 1)(x - 1)
(A ) =2x+1+2x—14+x4+1+x-1
= 6x
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o] Adold wf, b3+b%c+bc?—a’b+c—a*c =0

b (b +c) + b(c? - a®) + c(c? - a?)
b (b +c) + (b+c)(c? —a?)

(b+c)(b? + c? - a?)

b3 + b%c + bc? — a?b + ¢ - a’c
b, c= 730l &

o

A b2+ 2 —a? =0, + 2 =a?




@ x2-2x-1

@ x>+x-1

® x2-x49

@ x®2-x+3

—A2-8A-9

(A-6)(A-2)—-21 =A2-8A +12-21

(x2—x—9) (x2—x—|—1)

= (A-9)(A+1)
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26. 00 o % A5 a bol dhatel 2+ 0 = o+ 1A a4
b® + (a* - b*)* 9 Zk= oo,
=i

[ 2
> =g 2

B ~
2 2

%+ Z—z 21b2 +1 oflA

b* + a* 1+ a’b?
a’b? a’b?

(@@= b*)? =1 - ap?

a4 b8+ (a? - b?)?

=a®+b% + (1 -a?b?)?

=a® +b® +a*h* - 24%p% + 1

= (a* + a®b® + b*)(a* — a®b® + b*) — 2a%h> + 1

= (a* + a®b® + b?) — 2a%h* + 1

=a*-a’h? + b+ 1

=2

,at + bt —a?h? =1




